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Consider the following statements about Tarun Sagar :
a. Tarun Sagar is a Buddhist religious sage.
b. He wrote a book ‘Kadave Pravachan’.

e. The book is the largest in the world having size of 30" x 24" and weight of
2000 kg.

d. Itisrecorded in ‘Limca Book’.

Which of the statements given above is/are incorrect ?

(1) aonly (2) bandcenly
(3) aandbonly 4 Al

2, AfE Tl IOV WA TR STAYE YRawrTd e AR U I
#, W e, TwEnel aft RerEh Pl ae.
g, e ARy ot oty arefae,
%, foArma=n o smw w2 w5,

Tt fomiean ST FVE/FIVE IR H AAT ?
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(3) hae ¥ M (4) 1, A w

To control the depreciation of Indian rupee compared to American dollar, measures
of ‘self-correcting mechanism’ are

a. Increase the export of software, machines and automobiles,
b. Increase the flow of dollars from NRls.

¢.  Decrease the imports of unrequired things.

Which of the measures given above is/are correct ?

(1) aonly (2) bandconly

(3} aandconly (4) a,bandc
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Consider the following statements about “The Good Road’ :

a. It is a name of a film.

b. Itis directed by Gyan Correa.

¢. It won the National Award for the Best Feature Film this year.
d

This is the second Gujarati film to be nominated officially for Osecars of next
year, in the Best Foreign Film category.

Which of the statements given above is/are correct ?
(1) aenly (2} bandconly
(3) a,bandconly (4) Al

4, W oA He wafdd S TIRISArAl PiwTEn reflertdt ot St s

a7 7
T f
(1) fer — I el
(2) sifesm — T 5=
(8) T —  sufamiva
(4) wWEWE — g it

As per the categories of states proposed by the Raghuram Rajan Panel, which one of
the following pairs is not# correct ?

State Category
(1) Bihar —  Least Developed
() Odisha —  Special Status
(3) Gujarat —  Lesa Developed
(4) Msharashtra -~  Relatively Developed
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5.  igam YREu® srearey NENIEE Foat SN]SR IR ?

(1) 15 aFwe, 2018 (2) 24 HARe, 2013

(3) 26 ¥, 2013 (4) st Foad T

When did the Anti-Black Magic Prohibition Ordinance take effect in Maharashtra ?
(1) 15'" August, 2013 (2) 24" August, 2013

(3) 26" August, 2013 {4) None of the above

6,  TmER (T g fow) 7
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=S FaeEs SRl gabfion sga a gumn Ae anfr vohg wa wws afwen

THZEAT I 0 W e,

. UAGHET RSN AYHR MR W THEORER [T MR o (Ve e
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ot | fum ey g ?

(1) 3 % (2) TS
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Right to Reject means :

a.  Voters have right to reject all candidates.

b. It would lead to systematic change in polls and political parties will be forced to
project clean candidates.

¢. Right to vole is statutory and right to reject is a fundamental right (as per
decision of Supreme Court).

d. It would foster purity, transparency and vibraney in elections.
Which of the above statements is/are not correct ?
(1) aonly (2) aandb

(3) conly (4> None of the above
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Consider the scheme named ‘Manodhairya’ of the Govt. of Maharashtra :

a. This scheme is for all women and children.

b. This scheme i3 rehabilitation of the survivors of rape and acid attack victims.
¢.  Minimum compensation T 50,000 to T 2 lakh and maximum ¥ 3 lakh.

d. This scheme is being implemented from 15" August 2012.

Which of the above statements are correct ?

(1) aandb (2) bande

(8) a,bandc (4) b,candd

8.  v.uurer foefiaw — 2013 amaw wrefier faum féamoa o
A W THCAEMS! -G 80% i RITRi=l SHdl HTawa.
q.  HEGER TRCIEIS YHUTEA 70% SHF ATehie] Gudt SAEavE,
%, TR U HerE 20% i T e it s Te a0 e

CRECate
it Fon e gEe o 2
(1) Fa2 A (2) gz d
(3) HaBH (4) et S T

Congider the following statements regarding Land Acquisition Act — 2013 :

a. For land acquisition for private projects, consent of 80% of the land owners is
necessary.

b. For land acquisition for public projects, consent of 70% of the land owners is
necessary.

c. In the case of land acquired for urbanisation, it is obligatory to reserve and
offer 20% of the developed land to the land owners.

Which of the above statements is no# correct 7

(1) aonly’ (2) bonly

(3) conly (4) None of the above
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Arunima Sinha is the first lady in the world to conquer Mount Everest with an
artificial leg. Which organisation helped her to accomplish this feat ?

(1) Jamnalal Bajaj Foundation

(2) Dhanwantari Foundation

3) KK Birl.z..a:JFbundation

(4) Tata Steel Adventure Foundation

10,  HwE HEATRIT S Jil bael Tenfies e & [LBT) @v) g aida

(1) 19 2013 (2) 1 =fFEEr 2013

(@) 170 2014 (4) 1 3RR 2014

The date of implementation of Local Body Tax instead of Octroi in Mumbai
Municipal Corporation is

(1) 1% April 2013 (2) 1% October 2013

(3 1% April 2014 (4) 1% October 2014

11, & 2013 Wed TS IS TR AR (ERR-ITRER) e Fem anden

et © wwameew fiely e, magar A e e e arwgfafadiT
71 Fia @] g .
O 6w @ 174 @ 2: @ 6

As per the judgement of Supreme Court in July 2013, the MPs/MLAs would stand
disqualified on the date of conviction. This decision is applied to those
representatives who have been sentenced to more than imprisonment.

(1) 6 months (2) 1year 3) 2years (4) 6 years
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Consider the following statements :

a. 11th February is celebrated as a World Mother Tongue Day.
b. InIndia authorised total number of languages are 22.
Which of the statements given above is/are correct ?

{1} Onlya (2) Onlyb

(3) aandb (4) None of these

18, . Tz oviewHt S ua Rl gt 2

(1) s 3 frr (2) Wung RmmEm

(8) et et (4) wmh fEr

Which book is not written by Dr. Narendra Dabholkar ?

(1) Bhram ani Nirash (2) Andhashraddha Vinashay
(3) Mati Bhanamati (4) Purogami Vichar

14. vegit Svifes fome gwiten agpesm 53w @t s Befm soamrd
Sed@HIn Ae RO AT ST ol T T Frer SEER 9w e 3R ?
(1) WTSRT §T59 HEIFIH 37ETE
(2) AT e TERR
(3) wsfew 31w g R K
(4) EFFERA R
Which award was given to the scientist Dr, V.G. Shekharan for his tremendous

contribution to developing the technology of entering of long distance ballistic
missile in the Earth’s atmosphere ?

(1) Popular Science Communication Award
(2) Technology Leadership Award

(3) Scientist of the Year Award

(4) Swaminathan Award
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18. et wafa dman guREEGe ‘Tianhe-2' ¥ 7 MR SR TR,
(1) miE 2
(8) W (4) oY

“Tianhe-2’, the world's fastest supercomputer, is built by
(1) US.A (2) China
(3) Japan (4) Germany

18, v s S,
A, T AeEH I GRVETS I 3 1 33T wat SRHs G T e SR,
¥, AIHEEIg FO T S HiEl 69% 3.
(1) 3 W WK, T gER.
(2) ®F ‘A PR, T TR,
(3) =W W aE Ih W,
4) ¥ ‘W a T 9 g

Select the correct sentence/sentences.

a. Dr. Ambedkar describes the Part I1I of the Constitution aa ‘the mest criticized
part’.

b. The extent of reservation quota is 69% in Tamil Nadu.
(1) Sentence ‘2’ is correct, b’ is incarrect.

{2) Sentence ‘é’ is incorrect, ‘b’ is correct.

(3) Both the sentences ‘a’ and ‘b’ are correct.

(4) Both the sentences ‘a’ and b’ are incorrect.
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Tarun Tejpal has been in the news recently. Which of the following statements is/are
correct about him ?
a. Tarun Tejpal was the editor-in-chief of a monthly magazine Tehelka.
b.  Tehelka is owned by a company named Anant Media Fyiyvate Ltd.
(1) Statement ‘a’ is correct but ‘b’ is not.
(2) Statement b’ is correct but ‘a’is not.
(3) Both the statements ‘a’ and b’ are correct.
(4) Both the statements ‘a’ and ‘b’ are incorrect.

18.

A HYA/F HioE.

3. Founfa e ffige @ dftyrm fdee s@w s ofedasfia
(1) Fom ¥ R, T T,

(2) o O ThN, & W

(3) + W 7 T A W

(4) [ 9 3T =R T

Select the correct sentence/sentences.

a. Doctrine of Severability decides whether the law as a whole or only some parts
thereof are against the Constitution.

b. Doctrine of Progressive Interpretation takes the ever-changing socio-legal
context in view while interpreting the Constitution.

(1} Sentence ‘a’ is correct, b’ is incorrect.

(2) Sentence ‘a’ is incorrect, ‘b’ is eorrect.

(3) Both the sentences ‘a’ and ‘b’ are correct.
(4) Both the sentences ‘a’ and ‘b’ are incorrect.
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Select the correct statements related to the Gram Sevak.

a. He carries out the routine work of the Gram Panchayat.

b. Heis appointed by the State Government.

¢. Hemaintains the records and accounts of Gram Panchayat.
d. He records the minutes of the meeting of Panchayat Samiti.
(1) a,b,d (2) b,c,d

(3) ed,b 4) a,c

20. Y (37): ATEN USHEEAT ‘Sevned veg! e A,
FOU(F):  AOWEATS WAM € R g wewn AR,
(1) (=1) anfdy (§) sl e, (9) ® (1) 3 Irg Whgw R,
(2) (37) anfvr (F) =T MR, () B (37) A W ToiHew T,
(3) (%) W AR, W0 (¥) F AW®..
() (%) I AR, T (&) TR AR,
Assertion (A):  The word ‘Minority’ is not defined in the Constitution of India.
Reason (B) : The Minorities Commission is not a constitutional body.
(1) (A)and (B) are true, (B) is the correct explanation of (A).
{2) (A)and (B} are true, (B) is not the correct explanation of (A).
(3 (A)is true, but (B) is false.
(4) (A)is false, but (B) is true.

21. @l Hort et SRarH At S gt 2

1 Wl (2) fodt

(3) WREwE (4) waedt

Which of the following languages is not a recognised language of India ?
(1) Marathi {2) Sindhi

(3) Marwadi (4) Santhali
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22, Triwdd SR Rum gebd am ?

(1
(2)
3
4)

s wRw srfdereaTat waem e,
Trars wftedy sdewen Fae 4 feaw ==t 2R
farur oftses sddsemat 24 Rag ==t #7.

Which of the following statements is incorrect ?

1
(2)
(3)
(4)

The Legislative Council does not vote on the Budget.
The Budget is discussed only for 4 days in the Legislative Council.
The Budget is discussed for 24 days in the Legislative Council.

A
No option given above is correct regarding the Budget in the Legislative
Council.

28. GAYN R e g MR 2

H,
¥.

(1)
(2)
(3)
4)

faurrai araa: often are ST Sl

RuFEYd geeiaus T BT FEeeT el siveardt ' veen 9w fEnd
AT,

Haes {3 g @ T
Fae v 7 R o1 T
2 faum g s,
Tl R g T,

Which of the following statements is incorrect ?

a.

(1)
(2)
(3)
(4)

Ordinarily the first hour of the Vidhan Sabha i3 assigned for Question-Answer
Session.

During the Question-Answer Session in the Vidhan Sabha, any department can
be asked a question on any working day.

Only statement a is incorrect, b is not.
Only statement b ig incorrect, a is not.
Both the statements are incorrect.

Neither of the statements is incorrect.
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24, wrehid &7 fumitd FoR Fhet 208 ?
#. & f @f. e WU AANEaR gad IR Fie aeard B gar 10 a8,

4. ot TeHE YO WERIgR Aamiaa) TatT Afte e qeuEdt T, ol senadt gan
10 T9 B

(1) R o 39 vy |1 @
(2) R v 4w wg o T
(3) T Fwm A
(4) Q= o awarg

Which of the following two statements is correct ?

a. Dr. P.C. Alexander had the longest tenure as the Governor of Maharashtra so
far, which wags about 10 years.

b.  Shri Sharadchandra Pawar has been the Chief Minister of Maharashtra for the
longest period so far. His period was also about 10 years.

(1) Statement a is correct, b is not
(2} Statement b is correct, a is not
(3) Both the statements are correct

{4) Neither statement a nor b is correct

25. W e AR SIS AT S RRYR qeaE Téed iF 7

(1) = R T=m (2) it TvEaTa q|m

(3) ot THaTR T 4) R T&Es vaw

Who has not been the Chief Minister of Maharashtra, more than once for different
periods ?

(1) Shri Shankarrao Chavan (2) Shri Yashwantrao Chavan

(3) Shri Vasantrao Patil (4) Shri Sharadchandra Pawar
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e R s e A Hed FRIER 39 8 2
(1) 3 (2) 3rEHH
(3) wew (4) A
In which jail, did the British keep Vasudeo Balwant Phadke ?
(1) Thane (2) Andaman
{3) Mandalay (4) Aden

27.

TRAHGE! HIoe wegiE wureEr g A o e B 2

. W TEH Wedl q. 9 STETREE

%, e {iEaw TmifEEA g W dem srmfue

(1) =, 9 anf % s (2) [, % M0 T e

(3) 37, ¥ 3fY & S 4) X, 9, % s

Which of the following institutions were established by Dadabhai Naoreji ?
a. Gyan Prasarak Mandal b. Bombay Association

¢. London Indian Association d. East India Association

(1) a,bandconly {2) b,candd only

{3) a,banddonly (4) a,b,candd

28.

WG o3 W18 SUHUTEhRaT Tifé Segidv feliem &t %

9. fodre wisach fquavpEhiat A FivaEiar Wit sueey w5 v,
F. YA W& T S dIEQE IUCIeY wgIal AR,

(1) o %ad (2) & M § wE

(3) = o % B (4) o, gamfns

Lord Dalhousie planned to construct the network of Railways in India in order to
a. Easily procure raw materials from the interiors of India for export.

b. Provide a profitable channel of investment for British capital.

¢.  Provide cheap and easy means of transport in India.

{1) aonky (2) aandbonly

(3) bandconly (4) a,bandc
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20. W a3foH gy A SAfae yndig Ui HeeAr T HarEnEt e # %l ?

#. @ fE sErmaad g,

W W S hieee dodcs Bl

F. A YR S G GEEE, SR 9 .

T oW RN TR TE T, 3 Aed .

Fhetl Hivg g s sma ?

(1) o1 2ufit § Sea

(2) 3 anfor =% Fm

(8) A, oM F G

(4) e T i oma amRw

Why did Sir Allan Hume try to establish the Indian National Congress ?

a. He was aliberal.

b. He had a concern for the Indians.

¢. He wanted that Indians should be treated with respect.

d. He wanted participation of the Indians in administration.

Which of the above statements are correct ?

{1) aandbonly

(2) aandc¢only

(8) a,bandconly

(4) All the above three options are incorrect

¥, v e I

¥, RGN UPIER e Sy

%. fidw Imfos werggrn fom.

(1) 3 3nfr 7 (2) ¥ I F T
(3) I 3T & waa 4) #,az;rs
The British policy to grant independence to India changed because of the
a. Change in the Government in Britain.

b. Rising tide of nationalism in India.

¢. Impaet of Second World War.

{1) aandbonly (2) bandconly
(3) aandeonly (4) a,bandec
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Geeh! FHUEE GURTER TEUEE 3.9, 1849 W) TAOH IO WHEW WSl W OWT
g ?

H,  dlE e

3. fore @i

®. i e

. TR

(1) HAHH

(2) & AT & wed

(8) @1, § onftr % we

(4) i *h wam srd smEw

‘Paramhansa Mandali’, founded in Maharashtra in 1849, focussed on which of the
following reforms ?

a. DBreaking caste-rules

b. Widow remarriage

c¢.  Education of women

d. Abolition of idol worship

{1) aonly

(2) aandbonly

{3) a,bandconly

(4) All the above three options are incorrect

32.

fogeaT wtpr=T 1935 = RSl T BT FEH daR heft ?
A, Tl wRR oy fren s

q.  HOEA wEe

%, Ige fare

3. A e 14

Fhetehl Hrord frum = aRa 2

(1) ¥, = (2) ¥, Fang

(3) &, ¥ Mg (4) 3,9, F S
Which incidents prepared the background for passing of the Government of India
Act, 1935 ?

a. Muddiman Committee and its report

b.  Simon Commission

c.  Nehru Report

d. 14 points of Barrister Jinnah

Which of the above statements are correct ?

{1} a,bandec (2) b,candd

(3) a,bandd (4) a,b,candd
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1906 =a1 YT U GireaT ol AUSEH ieud YEeee draaHt g sl gt
TS W ITIIO T Ay 41 it

4. ayl WREE | kG o ST

%. He AFIET R o S

3. e fen sy Tm o wraa gearh w

affedd Fioh fum gt o ?

(1) ronforg (2) Hanrs

(3) «amfir =% (4 s

In his presidential address at the 1906 Calcutta Session of the Indian National
Congress, Dadabhai Naoroji openly used the term *Swaraj’ and at this session

a. ‘Vande Mataram’ was sung for the first time as the national song.

b. The demand for total independence was passed.

¢. Moderate path was accepted.

d. Barrister Jinnah participated in the activities of the Indian National Congress.
‘Which of the above statements are incorrect ?

(1) aandb (2} candd

{3) bandc (4) aandd

34.

s A faer

(1) HieRg TG, - RT™

(2) T UTHIE R —  onsfmew

(3) lagary 2 —  FEEl '

4) REwer afEd — @

Choose the inappropriate pair.

(1) Shridharalu Naidu — Ved Samaj

(2) Raja Rammohan Roy — Atmiya Sabha

{3) Ravindranath Tagore — Tattvabodhini Sabha
(4) Shivnarayan Agnihotri — Dev Samaj
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35. FEIEEF] ‘AwRA § QR A6 e T aeassd add St vl St 2
A oo wwa FES
g, Iy e
% s Aift. we
8. TSI SETEt
(1) A% (2) 9% 3 =wafrs 4) €%
Who demanded jobs for the untouchables in ‘Army and Police’ in the Saswad
Conference ?
a. Shivram Janba Kamble
b. Dr. Babasaheb Ambedkar
c. Adv. B.C. Kamble
d. Gopalbuva Valengkar
(1) aonly (2) bonly (3) candd (4) donly
36, SIE GUR (FIE GEEEIS Y GUROTSAT TOYUSANS) 1866 Well 2 wid fasme fem,

d 2 W B

9. FwEeg &9 T 0 WEE .
et B foen/frm st o 2
(1) = e AR TG 9 %

(2) & & NG W A TH

(3) Zrdt o197 TR

(4) TATRIA

The Brahmo Samaj split into two in 1866 because of the radical reforms pursued by
a group. These two groups were

a. Devendranath Tagore’s Brahmo Samaj of India.
b. Keshavchandra Sen’s Adi Brahmo Samaj.
Which of the above statements is/are correct ?

(1) aiscorrect bis not

(2) bis correct ais not

(3) Bath a and b are correct

(4) Neither a nor b is correct
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37. SO YO SN A AT ST ArEdE S et a7

(1) iz (2) WG (3) R %H (4) WddTE

The cultivation of which crop was not encouraged in India by the British under their
rule ?

(1) Indige {2) Rice only (8) Wheatonly (4) Rice and Wheat

38. WRJT T HiEer ITATE P T FHRONE el ?
. vy P g 5 wffr graeen 3.
q, A AW S gdeEdt sEie 21 6 19 99 wdd Sied st
%, A fereasa Al wE.
(1) Framfrg (2) TofTH (3) 31 3T 4) H, TS

What were the factors contributing to the foundation of the Indian National
Congress ?

a. Role of Western Education and the beginning of national consciousness,

b.  Reduction in the age for the Indian Civil Services examination from 21 years to

19 years.
¢.  The popular measures of Lord Lytton.
{1) aandb (2) bande {3) aande (4) a,bandec

39. Ty v arnles-aiiie S Yada v wen T ?
(1) ooy el 9 WIS HEEM T
(2) W TA A SR G
(3) IR WV FHE T divw qfokg o
(4) =t ferdidia wivrgt waia 20 T ,
Which socio-religious movements were not founded in Bombay ?
(1) Paramhansa Mandali and Rahnumai Mazdyasan Sabha
(2) Prarthana Samaj and Arya Samaj
(3) Indian Social Conference and Social Service League
(4) None of the above three options is the correct answer

40,  ‘shocft und weptor S ERREETSE Gl B, SR T e,

(1) < ¥ 9 (2) S AN

(3) WS T TS (4) TATA WL WEOS

‘Shripati Sheshadri Episode’ was associated with a social reformer. Name the social
reformer,

(1) Jagannath Shankar Sheth (2) Balshastri Jambhekar

(3) Bhau Daji Lad (4) Chhatrapati Shahu Maharaj

Toe] HIATEIE! ST / SPACE FOR ROUGH WORK P.T.O.
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41, ORQ STUETH JEeIEaH! S v ste aea ?
&,  wamie vfen swEst e,
9. IRmEmTiE w9t GiaT VR .
. e dmet i wrardier TR SroEat wehed.
T wiEd GEER SvEel SweaTe TEaR.
1) 1, safrs (2) HAamrs
(3) Teamrs (4 ¥, waarg
Which are the correct statements regarding the nuclear power plant at Tarapur ?
a. FPirst nuclear power plant in India.
b. It is the largest nuclear power plant in Asia,
¢.  First nuclear power plant in India based on American design.
d. Nuclear power plant started with the help of France.
(1) a,bande {2) aandb
(3) dandec {4) b,candd
42,  TEAE ar=gen R ar 9@ Sivien fmma e ?
(1) s s st (2) el sl FA2
(3) wfee anfdy i (4) iR anfor Sfirets
In which region are the mountain winds known as Chinook winds ?
(1) U.S.A. and Mexico (2) U.S.A and Canada
(3) Brazil and Argentina (4) Australia and New Zealand
43. GEAA o A kR iRl dev g s 2

(1) A F JeaeHs sRE it o,

(2) o Bl Yuffs oo gEam.

(3) wm fae¥t Yafils 9y waam.

(4) =0 PR

Which of the following sentences are true about the Artesian well ?
(1) Itisa dry well in the desert.

(2) Well which provides natural oil.

(3) Well which provides natural gas.

(4) None of the above
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S Tl
7T Xfag B
A. €FES! 1. miyems frg
B. T II. Frme wagEr
C. fTyEeen ML Fmeft s
D. UEERR IV. @& 3uW
A B C D
(1) Id v 1 I
2) IV II I 111
(3) I I I v
4) I I v I
Match the following :
Tourist Centre Famous Place
A. Lonavala L. Gavilgad fort
B. Panhala IL. Lingmala waterfali
C. Chikhaldara ITI.  Tungarii lake
D. Mahabaleshwar IV.  Tabak garden
A B Cc D
() 1 v I 11
(2) IV nn I 114
(3 II I I1I v
{4} 1II I v T
45. % Ayl QoA QeI GENa 1
(1 79 (2) 59 (3) 49 4 39
% of solar energy does net reach the Earth’s surface.
1y 79 (2) o9 (3) 49 (4) 39

TR WiERAT Wl FETRd T e R e

¥, TEMR q. TR
H, I 8. HWAR
1) 9,#,%,8 2 %,9, 3,8 & 9,%, 8, 3 4) 9,%, 3,8

Arrange the human settlements in the process of urbanization according to their
development :

a. Metropolis b. City
¢. Town - d. Conurbation
(1) b,a,cd (2) ¢ b,a,d {3) b,e,d,a 4) b,c,a,d

FTEgT FTHIWIS! AT / SPACE FOR ROUGH WORK
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(1) wa= (2 e (8) de (4) Avm
Consider the following picture and state the tribal community of the couple.

(1) Santal (2) Gond (3) Toda (4) Naga

O ST SIFT | SPACE FOR ROUGH WORK
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48. wiRha Reom sgm anfor fEaura SeEiy Fier e oar
HeTRT foaarar F1ear
A ¢ I 209/t
B. 41° II. 2499
C. 63 N1 i5as
D. 66% “ Iv. 12@T9
A B C D
(1 I 1I I IV
(2) Iv i II 1
& IV I I II
4) 1T I Ir v
Match the following given latitudes with the length of the days :
Latitudes Length of the days
A I. 20 hours
B. 41° II. 24 hours
C. 863 OI. 15 hours
D 66% ° IV. 12 hours
A B C D
1) 1 11 I11 v
(2) IV III I I
3 1 I I I
(4y 1I 1 I v
49, Wz = fFatdiendt aftg ame.
(1) e 2 ufiway (3) W (4) e afa
Redi port'is well-known for export,
(1) Mango (2) Naturalgas (3) Coal (4) Iron ore
50. YEiw gy rERREn Hie farar .
3, ST . gHRS
F. 4PF G s ARgM
FCTYAT IR AR T ST FES TR HAS R ?
1 # &€ 2) #,7 3) A, F T 4) 3,8
Consider the given landforms.
a. Qasis b. Hamada
¢.  Mushroom rocks d. Yardang
Which of the given landforms are produced by the erosional work of wind ?
1) a,ed 2) ab (3) a,b,e,d 4) a,d

FFodl IMTAIS] ST / SPACE FOR ROUGH WORK : P.T.O.
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51, wedta s @

fareg! s
A 3TER I T &R
B. s . §%= 3w
C. eRdch Ol ¥ees 3R
D. 43 IV. e SR
A B C D
(1 11 1 III v
(2) 11 III v 1
3 1 1 I v
4) IH I IT v
Match the following :
District Mountain
A. Aurangabad 1. Galna mountain
B. Nanded II.  Verul mountain
C. Gadchiroli III. Mudkhed mountain
D. Dhule IV. Surajgad mountain
A B C D
(L 1 | G 1) R '
(2) 11 11 v I
@) 1 IIT I v
(4) 1I 1 I v

52. IV I R Sieh TG Fodl Wi FRU[I AT 9 ?
(1) fade s (2) e
(3) = IO (4) TR A I

In which industry is carbon black used as the main raw material ?
(1) Cement industry (2) Leather industry
(3) Glass industry {4) Rubber goods industry

FEEqT FHEWIGT ST / SPACE FOR ROUGH WORK
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53. welld I ool wod wwdn sere Wefed wwg fal. fag &% @ 2013 oa

Rorpett ?
A, WS el de ey mes.
g, wAREn geht wi.

(1) R o et g L

2) fR < oot g ‘o T,

@) T3 9 F e,

4) R or 3 7 et 7.

Which of the following two tournaments has the Indian rising badminton superstar
P.V. Sindhu won in the year 2013 ?

a. Macau Open Grand Prix Gold.
b. Malaysian Open Championship.
(1) She has won ‘@’ but not ‘b’.

(2) She has won ‘b’ but net ‘",

(3) She has won both ‘2’ and b’

(4) She has won neither ‘a’ nor b’

54, TueAA w1 A ?
(1) fodean Wi RIS T Aie TEH el
(2) SATEAT VOO FRITHS TER WRIed S8 S
(3) fowwdear @ FRIITS TR WG AEH GEH
(4) T G FEIS GAR FE™ TEH GEH
What are drumlins ?
(1) Small hills produced by depositional work of glacier
(2) Small hills produced by depositional work of wind
(3) Small rocks produced by erosional work of glacier
(4) Small rocks produced by erosional work of waves

FTEAT PIATS! AR / SPACE FOR ROUGH WORK P.T.O.
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55,  STETAIA IR TTaE Fohga A1 7

(1) TR, W W¥, Tivaw S, AR
(2) TR, A W, YT Se, HaTed
(3) TR, We WQW, wiREm s, fEm
(4) IO, TS V¥, W S, AVRIS

Thrﬁugh which states of India does the Tropic of Cancer pass ?
(1) Gujarat, Madhya Pradesh, West Bengal, Manipur

(2) Gujarat, Madhya Pradesh, West Bengal, Meghalaya

(3} Gujarat, Madhya Pradesh, West Bengal, Mizoram

(4) Gujarat, Madhya Pradesh, West Bengal, Nagaland

56. STl geral’ diwdl4 wividh vaardes A gE FwaTa Iref 9
(1) foedt Tarfis de
(2) T S o
(3) wEE v S
(4) uradt vEaTds JieA

Which of the following Five Year Plans was launched with the slogan ‘Garibi Hatao’
(alleviate poverty) ?

{1) Third Five Year Plan
(2} Fifth Pive Year Plan
(8) Sixth Five Year Plan

(4) Seventh Five Year Plan

U] TTHIAIE8! SR 1 SPACE FOR ROUGH WORK
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67. 2011 — 12 WY WRGTSN T WO @Eiathl suen eefia sefEmeren ses
A A ?
(D e, afews, W
(2) Hfeen, ey Sifen, S
(8) TRrm, W s, BAHAT
(4) |FY S, 9=,

In 2011 - 12, along with the Indian rupee, the currencies of which of the following
economies were devalued ?

(1} Brazil, Mexico, Russia

(2) Mexico, South Korea, Germany
(3) Russia, South Africa, Hong Kong
(4) South Korea, Japan, China

58. Wl Foren Fa aEwhe fade TEEET, Smie e wep @ e e
FOAETE, IR TR Y R g e o 2

(1) HLIEH., WA, ¥9, w.d a8

(2) 89, WA RS, sma.nd., NS,

(3) oW, ¥, fam A, mwmd.

(4) WA, I H., WA T, sn TR E.

Which of the following Central Public Sector enterprises were given the coveted
Maharatna status by the Government of India to expand their operations as global

gianis ?

(1) BARC, HMT, SAIL, NTPC
(2) SAIL, NTPC, I0C, ONGC
(3) SAIL, BHEL, BARC, HMT
(4 NTPC, 10C, MTNL, ONGC

T WIS ST / SPACE FOR ROUGH WORK PTO.
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59. A i Frag.
ahd? Brerg
a FgERERR  — v o SR
b, féwm afied —  dfr Savfier gawon
c. EEhadl R — W g9mon
4. Yemmahdt  _  feha dewde guron
(1) oF ad TR IR (2) o T T Baq TS SR
(3) % FoR I IR (4) o vd 0= oNge
-Select the correct pair.
Commitiee Recommendations
a. Tendulkar Committee — Recalibration of rural poverty line
b. Narasimham Committee —_ Banking sector reforms
¢.  Chakravarty Committee — Tax reforms
d. Chelliah Committee - Financial sector reforms
(1) Only ais correct (2) Only a and b are correct
(3) Only cis correct (4) All of the above are correct
60. TYH T I HRUEEwId @t s fEmwe o

3. 31 UReTS SEEEeTet 2011 T wed,
q. A1 TR T SEIE ITEie aw] Saen e 60% wa avedtauEn A,
®. A oo 3Re T T st ae JereT & Fatn w0 ek,

Tt FoR/dt fRuamS st o ?
(1) waa o (2) AT s
(3) aorw (4) o1 2T &

Consider the following statements with reference to the National Manufacturing
Policy :

a.  This policy was implemented in 2011.

b. This policy was implemented to enhance the share of manufacturing in GDP to

60%.

¢. This policy’s objective is to create National Investment and Manufacturing
Zones. )

Which of the statements given above is/are correct ?

(1) Onlya (2) aandb

(3) bandc (4) aandc

T HHETHIET TR / SPACE FOR ROUGH WORK

b AN ey



A 29 BO3

61. ¥ En BT i RAre 30 @R 2009 o WY FAT SEAETEET FH QR M ?

A I A e gerh S 9 tamdie St it st dafe ugw e
G AR : TE WS TR P G0  Ghe 0] Aot o T a0 qem,

g e T T, @ 9 YgEw A1 6 98 TR (IIEH) @ EEEr B SR @
TG T ATRATY firert snfr mrvm ok S S AT UEEEE T,

(1) fum o wt ok uig @ .

(2) Fam @ s wg o .

3 o faam o 7 = @l ImEa.

(4) o faum o 7 7 gHET aARa.

What is true of the report submitted by the Thirteenth Finance Commission on

December 30, 2009 ?

a. The Thirteenth Finance Commisgsion has justified the existing constitutional
arrangement of division of taxes hetween the Centre and the States, many
direct taxes being levied and collected by the Centre but the proceeds are
shared with the States.

b. Poorer states stand to gain from three major subsidies viz. food, fertilizer and
petroleum as they get adequate share therefrom and should therefore be
continued as such.

(1) Statement ‘a’ is true but ‘b’ is not.

(2) Statement b’ is true but ‘a’ is not.

(3) Both the statements ‘a’ and ‘b’ are true.
(4) Neither statement ‘a’ nor ‘b’ is true.

62. W o TaaT el @teTeds SOORTHYE FTOr e

H., WM Oea g

W, SHEER S 96

®. M T

3. i feor yoredt

(1) ¥, I 2 w,wrs
(3) %, T3 (4) =

Find out the reasons for structural unemployment in India.
a. Jobless growth

b. Increase in Labour force
¢. Inappropriate Technology
d. Inappropriate Education System
() a,bandce (2) b,candd
(3) e, danda (4) All four
Y PITATSE OIRT / SPACE FOR ROUGH WORK P.TO.
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63. T 2012 - 13 1 FuEE WiaRte ¥ FRe ravEidie fRvageR gde 2w vean wan
A WA . g
I g wfftwem
1 @, 9,FAMS (2) ¥, %, g aufr
(8) =, 8 o anftrs 4) & A=
Arrange the following countries in a descending order according to their share in
Indian FDI for 2012 - 13.
a. Japan b. Singapore
c. Netherlands d. Mauritius
(1) a,b,candd (2) b,e,danda
3) e¢d,aandb 4) d,b,aandc
64, WY FO eI WFA T TN g el Aef S A=A et iy Faem

TR S s fafauar yearswad) femmret T 2

A, wEEyRe e R

F.  =qa e awde foad

¥,  TOqW WIS Il TR

T wamR oifee el foud

1) &, w (2) #,FAMS

(3) , T anftr o (4) f= vd wig

Which of the following concepts are devised and standardised by National Sample

Survey Organisation and accepted by Planning Commission for analysing
dimensions of unemployment problem ?

a. Usual status unemployment

b. Current daily status unemployment

¢.  Current weekly status unemployment

d. Usual monthly status unemployment

(1) a,bandec (2) b,ecandd

{3) c,dand a (4) All the above

TR THEIET SIPT / SPACE FOR ROUGH WORK
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TRATFAF B G e ST FOYEET 40 TEaEE 10 TwmaiE wH S
fererw Feft ? |

(1) wanimeR St
(2) e g
@) wiGem afft
@ e afd

Which among the following committees recommended the reduction in priority sector
lending from 40% to 10% ?

(1) Swaminathan Committee
{2) Chelliah Committee

(3) Narasimham Committee
(4) Kelkar Committee

66. 2011 aff Aa fepw fidwie earwTe Sate A gEte S wievt Fa.

3,

CR o

%, 9

3. Y

(1) &1, 9, ®an0s (2) A, F,FAMS
(8) #, 9, 8= (4) T, %, 9 anfir =

Arrange the following countries in descending order of their HDI value for 2011.

a. Norway

b.  Australia

¢. China

d. India

{1) a,b,candd’ (2) a,c,bandd
{3) abdandec (4) d,c,banda
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e S e Rem wU
F. TS HE e YRAK 99k At &9 fEmael R

4. vRare e g AoEgd e 1950 — 51 9 23 SYae 3T T 1996 — 97 <
89 TG BRI IR TN,

T | Y.

(1) foam ‘@ w0 /g @ I

(2) faaw & w0 g ‘A IF.

(3) A faum ‘& 7 T W,

(4) Q= BEm ‘9D I

Consider the following two statements :

a. India has the largest irrigated area among all the countries in the world.

b. India’s irrigation potential increased from 23 million hectares in the pre-plan
period {i.e. 1950 — §1) to 89 million hectares at the end of 1996 — 97.

Now state whether :

(1) Statement ‘a’ is correct but ‘b’ is not.

{2) Statement b’ is correct but ‘a’ is not.

{3) Both the statements ‘a’ and ‘b’ are correct.

{4) Neither statement ‘a’ nor ‘b’ is correct.

TEY T A () SeweArd At & @em, 1900 — 2000 Feedier, caharien
eI 1950 — 51 %1 56-5 I 2012 — 2013 =T 13-6 Y44 TRRen Y. uid Sdften =neda
w gefifra oTmg 9

(1) *az N

(2 ¥ 7w

(3) IR T UoEsHEERT %
() e vt vaig wr T

The share of Agricultural Sector in Total Gross Domestic Product at 1300 — 2000
prices in percentage terms has decreased from 56-5 in 1950 - 51 to 13:6 in
2012 - 2013. Here the term Agriculture includes

(1) Agriculture alone

(2) Agriculture and Forestry only

(3) Agriculture and Fishing only

(4) None of the above is the correct answer

TPUEIT BIHWIGT SIFT / SPACE FOR ROUGH WORK
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69, TT 1056 = irifrs drd i frarid 3 S 9 SR e s R
TN Qg faaed stoma et Aol Sfia iy st g aefvae sie o= &
em, =g Tl 50 a9
. Aenfes S| 5 1 aed.
¥ ARG TEE Ied gaid ot siefies Uy o,

STAT WEN L

(1) Rem or R g T T

@ o w R g T

(3) 2 faum o a T W=,

4) & fRuw o T X .

The process of industrialization launched as a conscious and deliberate policy under
Industrial Policy Resolution of 1956 and vigorously implemented under the Five
Year Plan involved heavy investments in building up capacity over a wide spectrum
of industries. As a result over the last nearly 50 years

a. Industrial production went up by about 5 times.

b. India became the fifth most industrial country of the world.

Now state whether :

(1) Statement ‘a’is correct but ‘b’ is not.

{2) Statement ‘b’ is correct but ‘a’ is not.

(3) Both the statements ‘a’ and ‘b’ are correct.

(4) Neither statement ‘a’ nor ‘b’ is correct.

70, ymftor AerrRaTe TE FHIE T
JATEH AEFEG, FH TE § FUehien di 2T e T,

¥, awiv e el wers Sl wvE gy tae T,

(1) Toum o st wg 9 T

(2) Toum T s Wy o .

(3) TFEI T or T T W,

(4) I T I

As per the National Commission on Rural Labour :

a. The new strategy has favoured big peasants and the small farmers have lagged
behind as they do not have the required resocurce base, the requisite knowledge
and risk bearing capacity.

b.  The rural poor should be absorbed in agriculture as owner cultivators.

(1) Statement ‘a’ is correct but ‘b’ is not.

(2) _Statement b’ is correct but ‘a’ is not.

(3) Both the statements ‘a’ and b’ are correct.

(4) Neither statement ‘a’ nor ‘b’ is correct.
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71. wAfERE wew i A 3wy amEm.
(1) TRidsfm it (2) ol
(3 dufemis 4) %
For prevention of heart attack, the drug that can be used is
(1) Nalidixicacid (2) Aspirin
(3) Paracetamol (4) Rantac
72. wEwS auTEE fRa YR o e S 7 g s SR .
1) SR W @ weEw
@) foe (4) TR
is the cause of bad quality of sound in an auditorium or in public
audience.
(1) Internal reflection (2) Resonance
(3) Reverberation (4) Pulsation
73. gzt @i ST LG G
(1) e e
(2) WM T
@ Fresdo E
(4) gadTEAl

Depth of the sea is determined by
(1) Chromatography technique
(2) SONAR technique

(3) Extraction technique

{4) Refractometer

O] FMARE! RN / SPACE FOR ROUGH WORK
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35
TTETS SaTET AR Hf Rmat HHt gk, Fror |
1) wfivaT B (2) TT B
3) uEe g (4) INF FroRd Tl

The size of Naphthalene balls decreases after some days because of
(1) Evaporation (2) Condensation

(3) Sublimation ' {4) None of the above

B03

75.

TS 99 Halg I AE4.
(1) g gar

(2) geien RgagRmER

(8) y=r SiawiTmed

(4) gedrEm qEammER

The weight of a body is maximum

(1) st the poles of the Earth

{2) atthe equator of the Earth

(3) below the surface of the Earth

(4) above the surface of the Earth

76.

T What ¥ wI ol o 2
(1) <rEea FE

(2) whee, Fem 3 FFa

(8) <rEs, FfMeE q FEwRe

(4) <iEe, o T wEA

Stainless Steel is an alloy of

(1) Iron and Carbon

{2) Iron, Chromium and Nickel
(8) Iron, Chromium and Cobalt
{4) Iron, Tin and Carbon

TPURYT WIHTATS! TR / SPACE FOR ROUGH WORK
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77. WA e @ Jeges ol -

(1) ST (2) RawR A
(3) s e (4) FAOHEATA
Main component of ‘Dettol’ is ~
(1) Bithionol (2) Tincture iodine
(3) Boric acid {4) Chloroxylenol
78. § wiudia wafa widt vl arge freww wad.
(1) s 14 (2) IHa
(3) wmfis (4) o
is the largest gland in the body which secretes bile juice.
(1} Salivary glands (2) Liver
(3) Pancreas (4) Gastric glands
79, TR wOUT JawHan Freinitex eftean waaE=n .
(1) | 10,000 (2) 98,000
(3) 97,000 (4) 98,500
There are about kilometers of blood vessels in the human body.
(1) 10,000 (2) 98,000
(3) 97,000 (4) 98,500
80. few gwft =1,
(1) i T (2) Foerm s Soma
(3) el (4) T B T
Scorpions are
(1) Oviparous (2) Viviparous
(3) Both above (4) None of the above

TTET FHETHIG! AR | SPACE FOR ROUGH WORK
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81. wicialdl WA SRE1 AT AHRAHINAT A SET F5 SR ?

(1) =, guren, g, fwa, s

(2) Towa, swwmewm, wEwEn, gedt, g3

(8) wrm, gedt, gd, faw=, s

(4) e woE T

Which of the following ranks astronomical objects in ascending order of their size

correctly ?

(1) Sun, Solar System, Earth, Universe, Galaxy

(2) Universe, Galaxy, Solar System, Earth, Sun

(3) Solar System, Earth, Sun, Universe, Galaxy

(4) None of the above

82. uudter i ity Sieeft @ wwiat shevfl arad wrwr
(1) e Fgaun Rreavamd
(2) - fagaam fireawmart
(3) & sireoft Irdt amy
(4) Ot wRd T

Housing wiring is made with all points in parallel connection
(1) for getting bigher voltage

(2) for gettiﬁg more current

(3} as it is easy to connect

(4} None of the above

83. WL TN TIgH TR TR T TGS ARG ?

(1) werame (2) TEHNRAEE
(3) eI (4) oTgTR
Which ore containg Copper and Iron ?

(1) Malachite (2) Chalcopyrite
(3) Chalcocite (4} Azurite

FORT FTATAIS! ST / SPACE FOR ROUGH WORK - P.T.O.
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84, U WITHHTHEA QU1 NIHAWIS TEMI T [0 IE AT, e TEUH
T 7.
(1) ToEd (2) w9aeq
(3) TR (4) oyqmor (feem)
The bending of a beam of light when it passes obliquely from one medium to another
is known as
(1) Reflection (2) Refraction
{3) Dispersion (4) Deviation

85. e T WE wEW TEfedd! Hiow ?

(1) Srwgeh (2) W=

(3) Srfar @ fgrm
The main symptom of Gambian fever is

(1) Headache (2) Dysentery
(3) Diarrhoesa (4) Insomnia

86. T e Tl Wi M 1 wemendt Sf T fewean wiamyg fee
X+Y¥=1Z
Z+P=T
T+X=M
Y+P+M=100
X=8
(1) 42 (2) 50 (3) 58 (4) 48

Select appropriate number from the given alternatives to substitute variable M in
the following set of equations :

X+Y=Z
Z+P=T
T+X=M
Y+P+M=100
X=8
(1) 42 (2) 50 (3) 58 4) 48
FFET FTRTRIS o7 / SPACE FOR ROUGH WORK
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87. TH dihfas Wi KOLHAPUR ¥ & PLOSZKFI s fafgara. @ =9 wiefrs wea

TASGAON %t w&g waT Rifem s 2
(1) GZTZLMH (2) GZHTZLM
(3) GZHTAZM (4) GZHLMZT

In a certain code language, the word KOLHAPUR is written as PLOSZKFI. Then
how will the word TASGAON be written in the same code language ?

(1) GZTZLMH (2) GZHTZILM
(3) GZHTAZM (49 GZHLMZT

88. wRfymeAitf A W X Y, Zaftam aft X =W+ 2, 2W=X+Y, 2Y=W ™

=T SR T e ?
1) We<Y<X<c?Z (2) Y<WcX<?Z
3) X<Z<Y<W 4) Z<X<WcY

The heights of 4 students are W, X, ¥, Zand 2X=W+Z, 2W=X+Y, 2Y =W,
Then what will be the sequence of their heights ?

(1) WeY<X<Z @) Y<WeX<Z
3) X<«<Z<«<Y<W 4y Z<X<Wce¥Y

89, UH Iy wiferhl fafdm W faerelt anga. mid yeEw e (7)) SiRee 9 e SR,
S ve, eeren watamg s

ak, eo, is, (), qa, ue
N (2) nw (3) 1w 4) mv

Various terms of a letter series are given, with one term missing, shown by (7). Find
out the missing term out of the given alternatives.

ak, eo, is, (9, qﬁ, ue

1 Iv (2) mw . 3 Iw {4) my

PO TS IR [ SPACE FOR ROUGH WORK P.T.O.
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90. TNER A, B, C 3 D1 9 TR i YEEAT SiavaTs SeeEHt ot T qiearer SR, A
TIFARIE TR G- ¥ R, TnaaeEn JEediEt T o, wie, §Y, oo 9 R s
AR
TFIEHH AT U e s sEeE .
C 71 vaTe Yaaeel D A1 s Naaerea IR 9urEs .
wd ® A 7 var Yatiue Fam,
B 3 C I 9N Fath UGG ael ST Sedie.
e ¥ wAaE T & 3 G A 4T A aade,
SR ¥ C 9 TH Tawh ARG 9 O e SR S,
H TAEF AR ?
(1) (2) 9™ 3 wq 4y S
Mr. Garg is in-charge of the sitting arrangément of the speakers of four political
parties, A, B, C and D, on the dais. In addition to these speakers, there is a

coordinator. The speakers’ names including the coordinator are, Jere, Hamid,
Khemu, Thapa and Patel.

The coordinator must sit in the middle that is on the third seat.

The speaker of party C does not want to sit next to the speaker of party D.
Patel represents party A

The speakers of party B and C, will sit on either side of the coordinator.
Hamid is not the ecoordinator and will sit between Khemu and Thapa.

The coordinator will not sit next to Khemu or Patel.

Jere is the speaker of party C and will sit on seat number four.

Who is the coordinator ?

(1} dJere (2) Thapa {3) Khemu {4) Patel

FOCqT BIRAST SIRN / SPACE FOR ROUGH WORK
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91, frm wehde inlie dgemda s g AfRm e weR Rere 9

zalftrinem — energyplay
trinemdrik — playground
trinemasky — playtime

T T YA 9 SYAeY TS T ‘sometime’ A Tegrdl A v Wi Fadia ?

(4) drikasky

(1) zlafasky (2) zxopqasky (8) askyzlaf

Melvin decoded some words from the coded message, sent by his friend, as follows :
zalftrinem — energyplay
trinemdrik — playground

trinemasky —» playtime

How will he code the word ‘sometime’, if following choices are available to him 7

(1) zlafasky (2) =xopqasky (8) askyzlaf (4) drikasky
92, YWTSATAT ST dod ST Fow ?
5, 25, 61, 113, ?
1) 191 (2) 101 (3) 161 4 181
Which will be the number in place of the question mark ?
5, 25, 81, 113, 7
1 19 2y 101 (3) 181 {4) 181
98,  WyTfegTSaT Il R e 3w 2
7 14 90
21 (34 ] 26 27 | 41 | 28 119 7 | 140
16 15 91
{1) 199 (2 299 3 219 4) 291
Which will be the number in place of question mark ?
i 14 20
21 | 34 | 26 27 | 41 | 28 119| ? (140
16 15 01
(1) 189 (2) 299 (3) 219 (4) 291

SOEgT TRTATA] SR / SPACE FOR ROUGH WORK

P.T.O.
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94, ¢ @ fyre s g e ey omd. @ wEw @1 e sedtedE wined
.« 91 frgren gEwda T 8 TEed oM. 3 fidien vl .
APOC: ?::ITSK: MVUN
(1) DRQH (2) EQRH (3) ERQG (4) ERQF

There is some relationship between the terms to the left of " and the same
relationship exists between the terms to its right. One term to the left of ! is
missing. Find it out from the given alternatives.

APOC:7::TTSK: MVUN
(1) DRQH (2) EQRH (3) ERQG (4) ERQF

95, YRRRHT AR SR G WA A7 9 e, uftew o Igem fafte Frawmer wen
m'@lmaqﬁa o wem s (7) g R, Reew gt wfade @en
(‘?)wﬂaﬁaaw%?nshm

IONEOINO!

(1) 45 (2) 47 (3) 55 (4) 57

There are three circles with four figures outside them. In the first two circles, figures
are mentioned according to a rule. In the third circle a question mark (?) is given.
Out of the given altermatives, which one fits in place of the question mark
accurately ?

3 6 2
2 3 9

(1) 45 (2) 47 (3) 56 4y 57

96, Tieliw wHiEM F0uT Avrandl Siort S T o s ST EEE AR ?
12+2-6x3+8=16

n +9+ 2y -3+ 3) x99+ 4 +9dx
Which of the following two mathematical signs need to be interchanged to make the
given eguation correct ?
12+2-6x3+8=16
(1) +and+ (2) -and+ (3) xand+ (4) +andx

LT J[EIETE! SR / SPACE FOR ROUGH WORK
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97. WHA veEdrE fEa He.
20 + (23 VE 61]
3 3 3
4 7 g B8
= L 2 4.2
(1) 8 3 @) 2 3 3 6 3 4) 13
Find the value of
1 1 1
20+ 12> - 4= 6—|.
[ 3~ 3" 3}
4 7 8 8
1 — (2 — - =
(D 813 2) 23 (8) 63 (4) 413
I-7
98. W 1-5W=0047, ;W <t fkma .
T f+H
730 73 77 78
1) — 2) — 3) — 4) —
b 77 @ 77 @ 73 “@ 770
If 1.5m =004 n, then the value of N7 s
n+m
730 73 77 73
1) — 2) — 3 — 4) -—
D (il 2 77 ®@ 7-3 @ 770
99. 4 3 Ui Y1 ST FF-37h W R s 2
(1) 220 (2) 224 (3) 225 (4) 228
How many three-digit numbers are divisible by 4 7
(1} 220 (2) 224 3) 225 (4) 228
100. WEha TEIoH gaiq Uidt aew S ?
819 T
217177 137 11
13 11 9 7
1) — 2y — 3 — 4) —
(1) 31 (2) T (3) 13 (4) 11
Which is the largest among the following numbers ?
8110 7
21" 177137 11
13 11 9 7
) S— -= > =
(1) 91 (2) 7 (3 13 4) 11

e BIFTATS! AT / SPACE FOR ROUGH WORK



(8) vy fift Fewn faitre arfe 79+ (5 =) w6, eyfRsfiie s o wR
FEEL H F FoA 9 B FOUrSn W FA R, FW AFA A T HER JGE0E e
st ¥ uhemed B o Sheu e stiufEm-g2” aRie wgdior wer
Tﬁﬂﬁﬁaﬁﬂaﬁmwmﬁwmaﬁ%w&wmmmm
o B,

(9) T wirraE wme fifte et de dreavm SEERen B YR wEae e EETRt
U TRE W R, wer wlismmgreait Awangt e s vt w1
TREETEE 7 Rraar T Wi s .

T R

Pick out the correct word to fill in the blank :

Q.No. 201. I congratulate you _ your grand success.

(1) for (2) at

(3) on ~ (4) about

TS A IR O@Q) on” R IR, WHR T YER Sw @ e, @
wrcfenmd 9w 3. 201 Wil soawEE Q)" 91 Hu wemm quie srikes
F&9 ERA AEES AR,

w20, O @ @ @

T YRR Tege TGRS Y% WA TR TG § PRI WA Riasreat
IRAEFAET S TR YEitE agde il SMifed W rearEr. B
T HTEHAT YR wierd A, AfFe =y O e TR

BTN BTATHIS! ST | SPACE FOR ROUGH WORK
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